
 

_________________________________________________________ www.colegioelatabal.es/lawebdepatri   

10 dm 

42 dm 

A= 
𝐛 𝐱 𝐡

𝟐
 

A= 
6,2 x 4

2
 = 

24,8

2
 = 12,4 

A= 12,4 m2 6,2 m 

A= л x 𝐫𝟐 

A= 3,14 X 14𝟐 = 3,14 x 196 = 615,44 

A= 615,44 cm2 

A= 
𝐛 𝐱 𝐡

𝟐
 

A= 
10 x 42

2
 = 

420

2
 = 210 

A= 210 dm2 

A= л x 𝐫𝟐 

A= 3,14 X 7𝟐 = 3,14 x 49 = 153,86 

A= 153,86 cm2 

                                                                              ___Áreas de figuras planas ___ 

                                        (Triángulo y círculo) 

 

Solución  ________________________________________________________________________ 

 

❖ Calcula el área de las siguientes figuras planas: 

 

  
 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

4 m 

,6 

cm 

14 m 

,6 cm 

7 m 

,6 cm 
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2,5 mm 

12,1 dm 

A= 
𝐛 𝐱 𝐡

𝟐
 

A= 
12,1 x 8,4

2
 = 

101,64

2
 = 50,82 

A= 50,82 dm2 

A= л x 𝐫𝟐 

A= 3,14 X 8𝟐 = 3,14 x 64 = 200,96 

A= 200,96 cm2 

A= 
𝐛 𝐱 𝐡

𝟐
 

A= 
2,5 x 3

2
 = 

7,5

2
 = 3,75 

A= 3,75 mm2 

A= л x 𝐫𝟐 

A= 3,14 X 16𝟐 = 3,14 x 256 = 803,84 

A= 803,84 cm2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

8,4 dm 

,6 cm 

8 m 

,6 

cm 

3 mm 

,6 cm 

16 cm 

,6 cm 


